
Math L020, euiz #8, Fa

Instruct ions: Show al l
unless specif ical ly asked round.

L. For each of the
and labe l  each

in ts  { ,4( -4,  *5) ,  B(1,3)  ,  C(-Z,S) ,  D(6,

the l is ted points  sat is fy  the equat io  n lx  +
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Name

the graph below.

2 .  For  each po in t  p t ted on the graph below, give the coordinat
quadrant  each
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Answers without work wil l  not receive

is in, l f  i t  is not in a quadrant, state the

credit .  Give exact answers

E(0 , I ) ,F ( -4 ,0 ) j ,  p lo t  the  po in ts

of the point,  and state which

t  ( i ,o)


